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Question 1 
(a) Outline five (5) learners' learning problems associated with learning mathematics in a 

foreign language of instruction. [10] 

(b) Identify four (4) language issues in appendix 1, an exercise from a mathematics 
text book. [5] 

(c) How would you deal with the issues identified in (b}? [10] 

Question 2 
(a) Explain in your own words each of the following phrases in relationship to national 

examinati ons: 
(i) Marker unreliability [5] 
(ii) Test unreliability [5] 

(b) Item 3: solve:2 - 3x - 4 0 by the method ofcompleting the square showing all steps. 
(i) Prepare a marking guide for item 3.' [5] 

(ii) Use your marking guide to mark Sipho's solution in appendix 2. [5] 

(iii)Identify what Sipho knows and errors that she made in her solution. [5] 

Question 3 

Discuss duties, roles and responsibilities of a head ofdepartment in a government school. [25] 


Question 4 
(a) Write a structured item that would lead learners to discover Pythagoras's rule. [13] 

(b) Write three (3) completion items that would test learners on different aspects of 
subtraction of common fractions. In each case identify the aspect you are testing. [12] 

Question 5 
Write an essay on integration in the teaching and learning ofschool mathematics. [25] 
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APPENDIX 1 


L 	 Adie istbrown and.a coin is tossed. 
(a) Draw a possibility space diagram to show an possible outcomes. 
(b) Write down the total number ofpossible outcomes. 
(c) Find the probability of getting: 

(i) 	 a one and a tail 
(li) 	a head and .an.even number 
(iii) either a bead and a two or a tail and an odd number. 

2. 	 A bag contains tbree:red ba1.bJ aDd two blaCk: balls. Another bag contains two 
red balls and one black ball. A ball is·taken·from each bag. 
(a) Draw a posBlD:i1ity space diagram to.show an possible outcomes. 
(b) What is the total.number ofpoSSible outcOmes? 
(c) Find the probability that 

(i) 	 both balls are of1he same cofour 
(li) 	at 1east one ball is black 
(iii) either the fust or the second ball is red 
(iv) none of tbe balls drawn is black. 

3. 	1\vodice are thrown.. .. 
(a) Represent the set ofan·outcomes·in a diagtam. 
(b) What is the poSsibility ofobtaining a total score of: 

(i) 	six (li) less 1han six fill) more than six? 
(c) What do you notice ab9ut the sum of the three probabilities in (b)1 


EXplain this. 

(d) Find the probability that both numbers are: 

(i) 	even 
(li) prime. 	 . , . 

4.. Two letters are chosen, 'One·from each of die -WOrds BODY and BOAT. 
(a)- Draw a·possibility space diagram to show an possible outcomes. 
(b) F'md the probability tltat the chose»Jettersare: 

(i) 	both vowels .. . 
(n) different. 

"j.."",~..~~~ 
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APPENDIX 2 

~ 'Z. -SJ: -4 =.0 

~ .'2. -z. 

~ - 3x + (I f b J - 4 = (I.S) . 

~ l::c· _'2,'2.5)"2 = G, 220\:: 

~=- 2/Z5~ LIS 
------~f) 
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